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16 | 07:50 |% 3 %2 (90 & = |44 (1KG) s H1A,B~14
17 | 07:50 |¥ 3 %2 |60 k2 |Big s L HA,B~H 4
18 | 07:50 |% 3 2|70 k2= |B+i& s £ 84A,5~8 4
19 | 08:10 |+ % |50 &= [#14 (5006G) o £ 84,584
20 08:10 |~ = |bb ke |[#14 (500G) s ETABTA
21 | 08:20 |3+ 2|55k = [5000M - 64, HIBE6 A
22 | 08:20 |9 & &= (60 #& %= |5000M s EHA, FRHA
23 | 08:20 |33+ 2 (65% = [5000M AR £ 54, FHIED A
24 | 08:20 |9 & &= |70 g |5000M g L6 A, FHRO A
25 | 08:30 |+F & |25kE (B3 AR ] A,B] R
26 | 08:30 |[* 330 k& (B3 g E 1A BT A
27 | 08:30 |+F e |40 k= (B3 AR 1A, B4
28 | 08:30 |+F®= 45 ke |BE g E 1A BT A
29 | 08:30 |+F e |50kE (B3 AR B4 A B4R
30 08:30 |~ =+ &= bkl |BE g £ 3A, B34
31 | 08:30 |§32|T0k= |H3 -3 £ 6 A,B6 2
32 | 08:30 |9 F®=|THpkle |BE g E2A B2 4
33| 08:30 |32 80fk® |H3 -3 QA B2
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34 | 08:30 |9+ &35 fke |BHE g <0 A, B0 4

35 | 08:30 |93k |40 ki |Bhik A L34, B3R

36 | 08:30 |* 3 |80 &k |44i(0.T5KG) | F B S

37 | 08:30 |+ (85 ke |44(0.75KG) |- < 24,2

38 | 08:50 |* -+ 60 %= |4 (5006) g L34, B34

39 | 08:50 |~ |65 f%k= |1%4(500G) a3 L4 A, B4

40 | 08:50 |* 3 |75 & |4 (5006) - F B2 A, B2 A

41 | 08:50 |¥ + & |25 k= |5000M a3 R4 A ERAA

42 | 08:50 |9+ |30 & |5000M A F SRR L X

43 | 08:50 |¥ + & |40 &= |5000M g LA A ERAA

44 | 08:50 |9 + & |50 &= |5000M o ETALCERT A

45 | 09:00 |¥ + = (55 ki |BriE ey i L84, B84

46 | 09:00 |F + 2 |60 k= |BriE s T AT A

AT | 09:00 |9+ =60 ke |44 (1KG) s = 84,84

48 | 09:00 |9+ =65 ke |44 (1KG) s = 11 4,284

49 | 09:20 |~ & |40 k= [ (6006) AR £ 5 A B 5 A

50 | 09:20 |* = 45 & |HE4£(600G) g =6 4,564

51 | 09:20 |* =+ =[50 &k &3k (3KG) s E1L A, B8 4

52 | 09:20 |* -+ = 55 ke |43k (3KG) s =6 4,564

53 | 09:20 |* =+ =60 &2 |&-3k(3KG) g L 24,2

54 | 09:20 |*F =65kl |&-3R(3KG) s L 3 A, B34

55 | 09:20 |* =+ = |75 &k \&-3k(3KG) s L 24,2

56 | 09:20 |¥ F = M24 &= |100M s LA A B4

57 | 09:20 |¥ + 2|25 ;e [100M g R4 A EIRAA

58 | 09:23 |9+ = (30 k= |100M R LA A B4

59 | 09:26 |¥ + 2|35 &k [100M AR 134, 208, HRESA
60 | 09:32 |9 & 40 = |100M g S I R

61 | 09:35 |7+ |45k |100M PR (L1504, A 20, BiE8 4
62 | 09:41 |7+ |50 &%= |100M PREAE £ 184,438, BER A
63 | 09:50 |7+ |55 %= |100M PR R 124,020, BiE8 4
64 | 09:50 |¥ & & (50 &k |HE4E(700G) g LT AT A

65 | 09:56 |7+ |60 #%& = |100M B S DU N 3 O
66 | 10:00 |¥ -+ M24 ki B ey B2 4,24

67 | 10:00 |7+ k|25 ki |Bhi - E1A, B ] 4

68 | 10:00 |¥ = (30 ke |BHE g L 3 A, B3

69 | 10:02 |7+ |65 %= |100M A RS LI

70 | 10:05 |¥ & = |70 g |100M g =64, FBE A
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71 10:08 |¥ 3= |Th k= [100M g EH A HERD A
72 | 10:11 |9 5 % (80 &= |100M e E3A, BB
73 | 10:11 |9 3 & (85 &= |100M s E4 A ERELA
4 10:14 |3 3 %= |90 &= [100M s LA ER] A
75 | 10:17 |* 3 = |25 &= |100M e ELAERELA
76 10:17 |~ 32|30 &= [100M a3 L4 A FERAA
77 | 10:17 |* 3 = |35 &=  |100M e ELAERELA
8 10:20 |¥ 3 & |bb k= [#4(T7006) a3 £ 11 4,284
79 | 10:20 |+ 3 e (35 &= |43k (4KG) R 214,14
80 10:20 |~ 3 %= |40 & = |43 (4KG) g ETABTA
81 10:20 |~ e |45 2 |43k (4KG) o £ 84,584
82 10:20 |~ 3 %= |40 &= [100M s 64, FHRO A
83 10:23 |~ 3 |45 = [100M g LEO0A,EHBHA
84 10:26 |~ 3 %= |50 &= [100M s 64, FHRO A
85 10:29 |~ 3= |bb k= [100M s EH A ERD A
86 10:30 |¥ 32|50 e |B+% s L64,5~064
87 10:30 |9 3= |bb ke |B+% g r 8 A, B84
88 10:30 |¥ 32|60 = |B¢% s £ 34,34
89 10:30 |9 3% |60tk |B¢% s 4 A B4 A
90 10:32 |~ 3 & |60 &2 [100M g L34, BRI
91 10:32 |~ 3 & |60 %= [100M s E4A ERALA
92 10:35 |~ 3= |80 &= [100M s E3A, BRI
93 10:35 |~ 3 %= |85 k= [100M s E2A,FR2A
94 10:35 |9 32 |Th ke |BHig s L34, B34
95 10:35 |9 3 %2 |80 k2 |BHig s 3 A, B34
96 10:35 |9 32|90 &2 |Big o x1A,B~114
97 10:45 |~ & ' |45 f& e (BOMHCO. 762M) |- L3 A HERIA
98 | 10:50 |¥ 3 |70 &= [BOMH(0.762M) |- E4 A ERLA
99 10:50 |¥ & |75 ke (BOMHCO. 762m) |- LA HER] A
100 | 10:50 |9 + = (80 % |80MH(0.762m) |- ELAERELA
101 | 10:50 |9 & &= M24 & 2 |#4 (800G) F £ 34,34
102 | 10:50 |9 5 % |25 k= |4 (8006) - QA B
103 | 10:55 |* =+ ‘= M24 #& = [100MHCO. 840M) |- 1A HER] A
104 | 10:55 |9+ = (60 %2 |100MH(0.840M) |- E2A, B2 A
105| 10:55 |¥ =+ ' |65 k= |100MHCO. 840M) |- L4 A FERAA
106 | 11:00 |9+ (50 %2 |100MH(0. 914M) |- £6 A, EE6 A
107 11:00 |¥ =+ % |55 k= [100MHCO. 914M) |- L 2AER2A
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108 | 11:00 |*-+ = |80 &= |&3k(2KG) g 24,214
109 | 11:00 |*-=+ % 85 &= |4:3R(2KG) i £ 3 A, B34
110 | 11:05 |¥ + = M24 #& = [110MHCO. 991M) |iA-% 24, HB2A
111 11:05 |9+ 40 &= |110MHCO. 991M) |43 ST A, BR]A
112 | 11:10 |5 =+ %2 (30 &= |14 (8006G) i L2424
113 11:10 |§ =+ 35 &kE [%4(800G) a3 34,234

11:30 B %2 4k
Rk 11120 % 0 GHEIRE ~E L B AR R T L 52 R - b
XEAR B AN FFES SR EFHLAL
WP s R yRE s R E .

037 04p 12:00 R * BERF  12:20 &+ 2 Rt

b2 o I <= e I . R DA P FAEH EE A

114 13:00 |¥ =+ = |60 = |4&a5k (5KG) g ETA BT A
115] 13:00 |§ =+ = |65 gk =2 |4&5k (5KG) g E 4 A B4 A
116 | 13:20 |¥ + = |80 = |4-7% (3KG) s E 4 A B4
117 13:20 |5 3+ = |85 k2 |4-3k (3KG) g QA B2 4
118 13:20 |¥ =+ = |90 g = |47k (3KG) g £ 1A,B1 4
119 13:30 |5 = = M24 #& = |400M s £1A,#HBR]A
120 | 13:30 |5 &+ = |25 g |400M s 24, BR24
121 | 13:30 |+ %2 |30 &= |400M s £1A,#HBR]A
122 | 13:30 |* 3% M24 & = (B o £ 1A,B1 4
123 13:30 |* 3% |20 k2 |Beig o £ 1A,B1 4
124 | 13:30 |*+ =30 k=2 [Pt s £ 1 A,B1 4
125 13:30 |+ 3+ = |3b ke |pHik g 1 A,B1 4
126 | 13:30 |* =+ % [40 k= (B g £ 3 A, B34
127 13:30 |+ 3+ = |40 ke |pHig g £33 A, B34
128 | 13:30 |* =+ 50 k= (B g £ 6 A,B-06 4
129 | 13:30 |% & % 40 &= |44 (2KG) g 6 A,B06 4
130 13:30 |§ =+ = |45 g2 |44 (2KG) g £ QA B84
131 13:33 |32 |35 k= |400M g EO0AHELH A
132 | 13:36 |¥ &% |40 = |400M AR 104, 4 2 BB
133 13:40 |3+ M24 k2 |B+% g 1A B A
134 13:40 |5+ =25 ki |B*3% s QA B2 4
135 13:40 |5+ = |30 ke |B*3% s £ A,B1 4
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136 | 13:40 |§ F= 3B pke |93 L 34,34
137 13:40 |§F+ =40 ke |B*3 E 24,24
138 13:40 |§ F+&=|db e |B*3 £ 34,34
139 | 13:42 |5 + = |45 = |400M =84, HREA
140 | 13:45 |5 + = |50 gk = |400M £ 184,23, HEE A
141 13:50 |9 + = M24 g2 |43 (7. 26K6) - 24,2
142 | 13:50 |§ =+ 25 g2 |43k (7. 26KG) -4 A B4R
143 | 13:50 |9 + = 35 ;le |43k (7. 26K6) -4 A B4R
144 | 13:54 |5 + &= |55 gk |400M -6 4, FB6 A
145 | 13:57 |¥ &+ 2= |60 &= |400M -3 A, ERE3A
146 | 13:57 |§ + & |65 &k |400M -3 A, FE3
147 | 14:00 |¥ =+ &= |70 &= |400M -3 A, ERE3A
148 | 14:00 |5 + &= |75 k2 |400M -3 A, FE3
149 | 14:03 | =+ %= 80 g = |400M -1 A ER] A
150 | 14:03 | &+ = 85 &= |400M -2 A ER2 A
151 | 14:03 |5 + =& |90 &&= |400M -1 A, FR] A
152 | 14:06 |~ % \M24 & = |400M -1 A ER] A
153 | 14:06 |* =+ |25 = |400M -3 A, FE3
154 | 14:06 |~ % |30 &= |400M 1A ERE] A
155 | 14:09 |*+ %= |35 &= |400M -1 A, &R ] A
156 | 14:09 |~ % |40 &= |400M -4 A EIRAA
157 | 14:10 |5 &+ = M24 & = 4545 (2KG) - 34, B34
158 | 14:10 |¥ =+ 25 k= |44 (2KG) - 24,24
159 | 14:10 |5 =+ %2 (30 &= |[454(2KG) - 2 A, B2
160 | 14:10 |¥ =+ 35 kE |44 (2KG) - 24,2 A
161 | 14:12 |* =+ %= |45 &= |400M -6 4, FE6 A
162 | 14:15 |* =+ %2 |50 &= |400M -0 4, RO
163 | 14:18 |~ = 55 k= |400M -3 A, RS
164 | 14:18 |* =+ 2 |60 &= |400M -2 A, FR2 4
165 | 14:18 |~ = |65 k= |400M 1A ERE] A
166 | 14:20 |* % b5 k2 (g -4 A B4R
167 | 14:20 |* = %2 |60 &= (B2 - 3 A, B34
168 | 14:20 |*F % |65 &2 (R - 2 A, B2
169 | 14:20 |*+ %2 85k (g - 2 A, B2 A
170 | 14:25 |*+ % |35 &= |1500M -2 A ER2A
171 | 14:25 |* 3 %2 |40 &= |1500M -2 A BB 2 A
172 | 14:25 |* =+ |45 &= |1500M -3 A, ER3A
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173 | 14:25 |~ 3 & 50 k= [1500M L2 A HR2 A
174 | 14:25 |% 3 & 55 &= |1500M QA EE2 A
175 | 14:35 |9+ 230 &= |1500M QA EE2 A
176 | 14:35 |9 & & (35 gke  [1500M L4 A FERAA
177 14:35 |9 3+ & |40 k= |1500M 4 A ERLA
178 | 14:35 |9 & = |45 k= |[1500M E3A BRI
179 | 14:45 |9+ 2|50 &= |1500M QA HIEB A
180 | 14:45 |9 & &= 55 ke [1500M EH A HERD A
181 | 14:50 |9 3 % |40 &= |47k (7. 26KG) B4 A B4R

182 | 14:50 |9 & &= |45 ke |43k (7. 26KG) r 8 A, B84

183 | 14:55 |9 & = |60 k= [1500M E2A B B2
184 | 14:55 |9 & & |65 k= [1500M E4 A ERLA
185 | 14:55 |9 &+ = |70 gk =  [1500M E3A BRI
186 | 14:55 |9 & &= |75 ke [1500M L4 A EFERALA
187 | 14:55 |9 & & |85 ke [1500M L2AEFR2 A
188 | 15:00 |¥ 3 & (80 = |4 (4006) E QA PO A

189 | 15:00 |¥ & = |85 ke |14 (400G) E 1A BT 4

190 | 15:00 |¥ 3 & |90 &= |4 (4006) 2] A, B A

191 | 15:00 |¥ & 2= |50 k= |44 (1. BKG) £ QA B84

192 | 15:00 |¥ =+ 2= |55 ke |44 (1. BKG) L g A B84

193 | 15:10 |9 5 &= 45 ke |peik £ 84,584

193A] 15:10 |* 3+ & |t #d&t%e 400 o = £ 4 13010 = =4 &
193B| 15:30 |9 + % |2 &dle (400 = % $4 B L
194 | 15:50 |9 &+ 2 50 ke |peik L 10 A, B8 4

195| 16:00 |3 3+ ' |40 & = |14 (800G) £ 7 A BT A

196 | 16:00 |9 =+ 2= |45 e |#&4 (800G) £ 84A,B~8 4

197 16:00 |~ 2 |50 &= |5000M s 4_ L4 A FERAA
198 | 16:00 |~ & |55 &= |5000M s H1ACER]LA
199 | 16:00 |~ = 2 |65 &= |5000M s 4_ LA HER] A
200 | 16:00 |~ & (70 &= |5000M $4_ H1ACER]LA
201 | 16:00 |¥ =+ %= |40 &= [(5000M 4 ElAERLA
202 | 16:00 |¥ 3+ & [45 &= |5000M $4_ QA HEE2 A
203 | 16:00 |¥ 3 %= |50 &= (5000M #4_ L3 A HERIA
204 | 16:00 |¥ F & 55 &= |5000M 4 H1ACER]LA
205 | 16:00 |¥ 3 % |60 &= [(5000M #4_ L3 A HERIA
206 | 16:00 |¥ F & (70 &= |5000M $4_ H1ACER]LA
207 16:00 (¥ 3 % |7h &= [5000M &4 L4 A FERAA
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03 % 05p (&2#Hp) 07:10 B42L7

bR 2= A ) A P LA

208 |07:45|% &+ %= (25 = |10000M E24A,BB24
209 |07:45|% &+ %= (35 = |10000M E3A, BRI
210 |07:45 % & %= (40 2= |10000M E1 A #HBLA
211 |07:45|% &+ = 55 g = |10000M R2A,#BB24A
212 |107:45 % &+ = (60 &= |10000M E1A, BB
213 107:459 &+ %= (65 2= |10000M E24A,BB24
214 107:45]9 &+ %= (70 e 2= |10000M L0 A, HIBEDHA
215107:459 &+ %= (75 g 2= |10000M EA4A BB LA
216 |07:50|% =+ %2 |55 k= |44 (1KG) 64,564
217 107:50 % =+ = |60 g = |44 (1KG) L4 A B4 4
218 |07:50 % =+ = |65 k= |44 (1KG) 3 A, 3 4
219 107:50 % & = |75 = |44 (1KG) 24,24
220 [08:00|% + & |70 &= |14 (5006) £ 54,854
221 108:00(9 &+ 2= |75 e 2 |#14 (5006) L HA,BxH 4
222 108:20(9 + = |50 k= |43 (6KG) £10+,58 4
223 108:30|9 & = |M24 =2 | = Bprig L1 A1 4
224 108:30|9 &+ = (35 e | = PR L1 A1 4
225108:30(9 + = 45 e |= BBt £ H A, B~H A
226 108:30|9 &+ &= |50 k2 |= PR ETABTA
227108:30|9 &+ = |55 e |= PR 3 A, B~3 4
228 108:35|% & = (30 = |44 (1KG) L1 A1 4
229 108:35|% + = (35 = |44 (1KG) L1 A, 14
230 [08:35|% & = |40 = |44 (1KG) L4 A B4 A
231 |08:35 | % &+ = 45 f = |44 (1KG) 64,264
232 108:40|9 + 2= |60 g = |#1 (6006) £ 124,584
233 108:40|9 &+ &= |65 gk =2 |#4 (6006) ETABTA
234 108:45|9 &+ %= (25 = |10000M E1 A, #HR]A
235108:45|9 + %= (35 = |10000M E24A B BR2A
236 108:45|9 &+ %= (40 = |10000M £04A,HBOHA
237108:45|9 &+ %= (45 = |10000M 24, BB24A
238 108:459 &+ %= 50 = |10000M L£34A, BRI
239 108:45|9 &+ %= (55 k= |10000M 64, #B6 A
240 108:45]9 &+ %= (60 = |10000M L£3A, BRI
241 109:10|9 & 2= |55 k= |47k (6KG) L5 A, B~H 4




242 109:20 |+ + @ |50 & = |as4 (1KG) £ 94 g4
243 [09:20|% + = |35 A = |z mprid £ A, 4
244 [09:20|% + = 45 &k = |z mprid £ A, 4
245 [09:20|% + & |50 Ao |z mprid £ 34, B34
246 [09:20|% + = |55 & = |z mprid £ 34, B34
247 [09:20|% + = |60 o |z mprid 214, 4
248 [09:20|% + = |65 & = |z mprid £ 34, B34
249 [09:45|+ 3 = [25 & = [400MH 214 BRI
950 [09:45 |« 5 = |40 & = |[400MH(0. 762M) 214, 8E]
951 [09:45 |+ 5 = |45 & = [400MH(0. 762M) 214, 8]
252 (09:50 |9 5 & |50 &= |400MH(0. 840M) £5 4, BHED
953 [09:50(9 + = |55 & = [400MH(0. 840M) EERET S
254 [09:50|% + & |70 & [4&zk (4KG) R
955 [09:50|% + & |75 & = [s&zk (4KG) £ 54, P54
956 [09:55]9 + = |25 & = [400MH(0. 914M) 214, 8]
257 [09:55|9 5 & |30 &= |400MH(0. 914M) 2148
958 [09:55]9 + = |35 & = [400MH(0. 914M) £3 4, #ES
259 (10:00|9 5 = |40 &%= |400MH(0. 914M) £ 34, 803
960 [10:00]9 = = |45 & = [400MH(0. 914M) £ 34,803
261 [10:00]9 = = [60 & e |43k (5KG) 74 BT A
262 [10:00|% + = |65 &= |47 (5KG) r g A P8
263 [10:00|% 3 = [25 &= |5 e £ 4, Be] 4
264 [10:00|% + = 40 Ao |#5pa ENE S
265 [10:009 + & |30 ke |#Epa 24, B ] 4
266 [10:00|% + & 45 ke |#5pa £ 34 B34
267 [10:009 + & |50 & e |#5 3 £ 4, Be] 4
268 [10:00|7 + & |55 & o |#5 A L9k B4
269 [10:00|% + = |60 A= |#5pa NS
270 [10:00|7 + &= |65 & o |#5 w3 £ 34, B34
271 [10:00|% + = |70 A2 |#5wpa B
272 [10:05]9 = = |60 &= [300MH(0. 762M) £ 34, B34
973 [10:05]9 = = |65 & =  [300MH(0. 762M) EERET
274 (10:05]9 5 = |75 &%= |[300MH(0. 762m) BT
275 [10:10|% + = |85 ke |= mprid NS
276 [10:10|7 + &= |90 o |= mprid 214, 4
9277 [10:10 |~ 5 = [M24 & = [200M £ 1A BB A
278 [10:10|% + = |25 & =  [200M £3 4 B34
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279 110:10|9 + &= |80 k2 |= mptip s 44,544

280 |10:10|%+ = B ke (= BptiR AR HQ2HA, B2 4

281 [10:13|* + %= |30 gk = |200M AR SN/ SN < J (N

282 110:13 |~ + & |35 k&= |200M s 24, FB2A

283 [10:16|* &+ %= |40 g = |200M AR 94, 228 FHHEBA
284 |10:19|% =+ & |45 &&= |200M s ETAHBRTA

285 |10:20|9 + = (80 gk = |4&3k (3KG) AR £ 34,34

286 |10:20|9 + = |85 gk = |47k (3KG) s £14,5~1+4

287 110:22|% + %= |50 gt &= |200M AR ETAHBTA

288 [10:25|% =+ & b5 k&  |200M s L34, HBIA

289 |10:25|% =+ = |60 gk &= |200M s ST A HBLA

290 [10:25|% =+ =& |65 & |200M s 24, FB2HA

291 |10:28|% =+ = (80 g &= |200M g 24, B2

292 |10:28|% =+ =& (85 gk & |200M s ST A H&BLA

293 [10:31|9 + &= M24 & &= |200M s 24, FB2HA

294 110:31|9 &+ &= |25 g2 |200M AR L34, BRI

295 110:34|9 + = |35 k&= |200M s ETAHEBTA

296 [10:37|9 &+ = |40 g &= |200M PREARE (I A, 28, BESA
297 110:40|9 + = |50 gk = |47k (6KG) s L0 4,B5 4

298 [10:40|9 + = |55 gk = |47k (6KG) AR 44,344

299 [10:43|9 &+ = |45 &&= |200M PREAE F 94,2 B8
300 |10:49|% + &= 50 gx = |200M PR (R ITA, 23, HESA
301 [10:58 |9 + & |55 gk &= |200M PREAE L9420 B8
302 [11:00(% + = |60 gk = |= Bptig A F H 4 A B4 A

303 |11:00|9 + &= |65 fh 2 |= mptig s L0 4,B5 4

304 [11:00(% + % |70 gk 2 |= BBt A F H4r B4 A

305 |11:00|9 + &= |15 ke |= 5pig A F £ 34,534

306 |11:00|9 + & |70 g = |47k (4KG) o 44,44

307 |11:00|9 + = |75 gk = |47k (4KG) A F £ 04,554

308 |11:04|9 + = |60 &= |200M o ETAHBTA

309 [11:07|9 + =& |65 k& |200M A F FTAEHRTA

310 [11:10]9 & = |70 & 2= |200M o 24, FB2A

311 |11:10]9 + = |TH k&= |200M A F L34, FHBIA

312 |11:15]|9 & = (80 gk = |200M o L34, HBIHA

313 |11:15]|9 + = |85 k= |200M s L34, HBIA

314 |11:20|% =+ = (35 gk = |800M o R 24,24

315 [11:20|% =+ =& |40 g &= |800M s 214,514
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316 |11:20|% =+ = |45 & &= |800M £ 24,52
317 |11:20|% =+ = |50 gk = |800M £14,51
318 |11:20|% + = |55 k&= |800M R 24,32
319 [11:20 |9 + &= |25 k2 |4&xk (7. 26KG) £14,51
320 |11:20|9 + = (30 gk = |4&3R (7. 26KG) £14,51
321 |11:20|9 + &= |35 fh 2 |4&xk (7. 26KG) £ 44,54
322 |11:20(9 + = (40 gk = 483 (7. 26KG) L4454
323 |11:20|9 + &= |45 k2 |4&k (7. 26KG) £ 34,53
324 |11:25|9 + = 25 k= |800M £24,32
325 |11:25]9 + & (35 k&= |800M £14,51
326 [11:25]% + & |40 g = |800M H 24,52
327 |11:25|9 + &= |45 k&= |800M L4 1,54
328 |11:35]% + &= 50 gx = |800M £ 94,58
329 |11:40|9 &+ = b5 k&  |800M £ 24,52
330 [11:40|9 + = |60 & &= |800M £ 34,53
331 |11:40|% + = |65 k= |800M £24,52
332 |11:45]|9 & = |70 g = |800M £ 34,73
333 |11:45|% + &= |75 k= 800M £ 34,723
334 |11:45|9 &+ = |85 &k &= |800M £ 24,24
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03 05 p 12:00 ki * B pFrF 12 220 H3E * e &t -

F| B |mu [A 5 Fau  [FS g

335 [13:00 |+ + = [40 & |pask (4KG) A PR
336 |13:00 |~ + = |45 & = |45k (4KG) A AP 4
336A[13:00 % + & |2 Edee (1600 2 ¢ #4 [ F 11:30 %448 ¢
336B[13:10 (% + & |2 &ake [1600 2 ¢ #&4 [ F 11:30 2448 &
336C[13:20 i & & |2 Edee [1600 2 % #4 [ f 11:30 2248 &
337 [13:20 |+ + = 50 & |gask (3KG) A £ 3 A, P34
338 |13:20 |~ + & |55 ke |k (3KG) A E5 A, BG4
339 [13:20 |+ + = 60 & |gask (3KG) A PR
340 [13:20 |~ + = (65 & |4k (3KG) i3 AP 4
341 [13:20 |4 3 = |70 & gk (3KG) A AP 4
342 |13:20 |+ + & |75 & |4k (3KG) 3 PR S
343 |13:30|7 + = |30 &= [3000M e % 214, EE ]
344 |13:30|9 + = |35 & [3000M Hpee R E4A EB AN
345 |13:30|% + & 40 & [3000M et A 4L EB AL
346 |13:30|7 + & |45 & (3000M et T 214, BB
347 |13:30 |9 + = 50 & [3000M Hhe A 554, #E5 A
348 |13:45|% + = |35 & [2000M Hpae T 214, BB
349 |13:45 | F & |40 g [2000M it A 214 EB] A
350 |13:45(9 + = |60 & & [2000M et T 214 EB] A
351 |13:45|9 + = |65 &= [2000M Hhee A 24 EBD A
352 |13:45(9 + & |75 & [2000M et T 214 BB

14:30 BFHR-gpe it spg 5 ~ 4252 L84 EE
EyEge A F £ & See You again X k)% 6
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